0000O0T1T2) 11000000 gogno

2014/07/07 10 am. 0O 0O

goboobooooboooo = Q0odd
g

gboooobooooooobooooooboooobooooooooooooobooOobooOo0oooOoOoOobOOoOoboa
ooooooooon
O1. OOmOOOODOOO —kx00000O0 —czcO0OO0OODOOODOODOOOO

#4261 +we? =0

00000000028 =c¢/m, we?=k/mO0000B000000008=0, we/5, wo, 2woe 0000000 20
000 +00000000000000t=000000s=0, 4=10000000wy,=10000

02 00mO000000 —kx0000 —e200000 FsindtOOOOODO0OODO0ODOO0OOOO
&+ 287 4 we? = psin bt
000000000p=F/mO0D000000000000 z=Asin(ét+6) 00000
050
A= P ; 5:“”171%
V6 — 27 + (2507 =&

0000000000008 =0, wy/5, wo/2, wo, 2wo 0000000 we?Ad/p0 000 &/wy 1000000
ooo




